goobobooooobobooIl32ussgdggonoooooonon o 2015/7/1700 0O
0000 zeR" r>00000 B,(r)={2" €eR"|d(z,2") <r}0000O

06.1. f,KOOOODODOODOOODOOf|x0f0000000000 KOODOODOOOO
O00000000000000000000000000000000000000000
O0000000000000000000000000000000
1) f:R—=RO f(z)=2*-20000000
a) K=[-2,2cROOO0O

b) K = [ ;_ﬁimmmm

2) f:R" RO f(z1,...,2p) =21° +---+2,°0000
a) R>0000K =B,(R)={r eR"|d(o,x) <R}0D00OO
b) K=R"OOOO
3) frR* = RO f(zy,m) =2 —2,°0000000
a) R>0000Kg = {(21,72) ER*|0< 2, < |2 < R}OOODO
b) K= {(r1,72) €ER*|0< 2, < |ap|} 0000
4) f:R* = RO f(z,y) = @*+20+y)(2* —20+¢y) 0000000
a) K=Bun(1)0000
b) K = &w()DDDD
¢) K =Buo(l)UB10(1)0000
)
)

d) K = BWJ()DDDD
eK B(004DDDD

0 6.2. S'CR*0 St ={(z,9) eR? |2 +¢*=1}0000000

) f:R* = RO f(r,y) =2*+¢*000000000 (0,000 fO0O0O0O0O0ODO0OO
00000000(z,y) €S'000(x,y 0000 fO0000000 gradg,,, fO000
0oQg

2) f:R? RO f(z,y)=2>—y*000000000 (0,000 fO00O000O0O0OO0O00
0000000000000(z,y) €S 000(x,y)0000 fO0000000 grad,, f
oooooo

3) f: R = RO f(z,y)=—2*—3*000000000 (0,000 fO00000O0O0OOO0
00000000(x,y) €S'000(x,y 0000 fO0000000 gradg,,, fO000
0oQg

063" (0000000000ODOODONO). X=Y=R'OOOf:X—->YOOOOODOOOO
gboobugoboobob X,ygoobooood

1



WU CY(=RYO0O00OO0OO0OOOze £ (U)DOODOf(U)0OOO00O f(x) €U
OD00000e>00 Bpy(e) cUODODODOOODDDODDOOOOfOOOOODODODO
§>00 V2 € R" d(z,7") <6 = d(f(x),f(z) <e00000000000000O0
B,(0)c f/{(DDODDDDDDODDDDODDDD £YU)0 X(=R)OOOOOOOO

2) ACXOUOOB=f(A)cYDOOO{UherD f(A)0000000000 Be | JUn
AEA
O00000000{f " (U)hea0 ADODDDDOOOODODODOO

3) KCcXOOOOoOoOoooof(K)cyoouooooooooooooo

U 6.4. 1) 00000000 f:R—-ROOfR)D ROODODODDODOOOOOOOOOO

goo
0 RO ROODODODOODODODOOODOOR\R=oOOODODOOOOOOOOf:R—-RO
O0000O0FO ROODOOOOOOOOOFOO f(F)ODOODOOOODOOOOOO
goobodgg

2) f:R-ROODODODOO0OO0DO0OK CROODODOO0O0O0O0O0O0O0fK)ODODOOOOOO
goobooddg
OO00OR"OO00DOO0OO0O0O0OO0O0OOODOO0ODODObOOODOODOODODODO

01),2)0 RO R"O000O00O00O0O0OOOOOOOOO

065 1) f(zr,...,2,) =" 0000f000000000000000,0000
00000000000 f(z,...,2,) =€ ¢ 0000000000000000
0000000000000000000000g(zy,...,%) =21+ +3, 0000
flazy,.. . @) =¢G00 0000000000000000000O0O000000
0oooooo

066. (R-ROCO0000000DO0ODOOOODOODODODODObOOODOODO

1) f(z)=€*0000f0 ROODODODOOODOOOOOOOOOOOODOOOOODOOOO
gboodboogbbogbboobodbuoobbooobodl +ccbgboononbo
2) cosz, sinz 0000000000000 O0O0O0O0O0OOOOOOOOOOOOOOOO

0oo0oo0oooooooon +coddonoooonong
—+00

1
3) 00 0000000000000 00e" = E —‘x”DDDDxDDDDDDDDDDD
n.
n=0

DoobodnD z=2+v-1wOUO0OO z,yeRUDOODO
e =e"(cosy + vV —1siny)

oboboobooboobooboobobboboobooboobooboob
Doboboooboobooboobobboboobon

goon



